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https://www.100test.com/kao_ti2020/224/2021_2022_70-059TCP__

c100_224693.htm person one: Here s what I can remember: 1. Your

company has two WINS servers already installed. You need to install

a new WINS server to connect to the internet. How will you

configure it? a. Primary WINS b. Secondary WINS c. Caching only

d. Forwarder (I guessed c. But again I guessed , so be sure to check

the answer) 2. Which of the following are valid IP addresses, and

which are not? (A drag and 0drop problem, Cute!) 203.122.153.1

(Valid) 127.96.185.20 (Invalid...Starting octet cannot be 127)

150.206.256.3 (Invalid...An octet cannot exceed from the value 255)

175.207.180.6 (Valid) 3. Your company s subnet mask is

255.255.248.0. Your subnet contains a blend of Windows NT and

UNIX machines. You have already assigned them IP addresses from

175.60.8.21 to 175.60.8.49. You want all your Windows NT

machines to be assigned IP addresses automatically. Create a scope

that consumes all the IP addresses in this subnet. (Another drag and

0drop situation, where you have to 0drop the IP addresses in the

DHCP scope properties screen) Include range From 175.60.8.1 (

10101111.00111100.00001000.00000001 ) To 175.60.15.254 (

10101111.00111100.00001111.11111110 ) Exclude range From

175.60.8.21 To 175.60.8.49 (Make good use of the calculator, or your

bust) 4. There were two questions from the transcenders, that a

computer . [1] [2] [3] 下一页 100Test 下载频道开通，各类考试

题目直接下载。详细请访问 www.100test.com 


